



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{2}\right) + \frac{1}{3} =$$

$$\left(\frac{2}{5}\right) - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \frac{2}{5} =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{2}\right) + \frac{1}{3} = \frac{5}{6}$$

$$\left(\frac{2}{5}\right) - \frac{1}{3} = \frac{1}{15}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{23}{18} = 1\frac{5}{18}$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{4}\right) = \left(-\frac{19}{12}\right) = \left(-1\frac{7}{12}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{103}{4} = 25\frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{50}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{3} = \frac{5}{3} = 1\frac{2}{3}$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{5} = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{5} = \frac{116}{45} = 2\frac{26}{45}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{2} = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{2}{5} = \frac{133}{20} = 6\frac{13}{20}$$

$$\left(\frac{2}{5}\right)^2 - \frac{2}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{17}{5} = 3\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{2}{5} = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) = \frac{13}{36}$$

$$\left(\frac{1}{5}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$